Simple interest
(TTLTRUT STST)

Concept Lecture - 1
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Basic understanding:
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Find simple interest for the values given below:
A & TS TP F IHTAR ATUROT SIS TATAT:

PRINCIPLE |RATE % | TIME [I&s

2000 2 5 200
6/ | 4250 4 5 850
(26 U} 4400 6 a4 5§
vx12 4500 |9 18 10%0
1750 7 5 612.5
Wy = 525
‘3‘/,-&
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PRINCIPLE RATE % | TIME |Interest | Amount
2500 16 5 - ?

1800 a2 33.33 7 - ?

1500 2680xlyD |? 8 960 -
2100 34— ? 20 1470 -
5300 5 ? 1590 -
3600 5 ? 1200

1000 (Rate%=time) ? ? 360 -
2400 (Rate%=2xtime) |? ? 432

? 12.5 6 1500 -
X 230 4 8.5 ?- 2680
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The principal that will produce Rs.60 as simple
interest at 6% per annum in 5 years is:-
qg H UMK oY 5 Wl A 6% 9iad a¥
& F 60 I WURT AT F &7 F M,
9% F4T 87
a)Rs.175 b) Rs.350

s.200 d) None of these
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A man took a loan from a bank at the rate of
12% per annum at simple interest. After 3
years he had to pay Rs.5400 as interest.
The principle amount borrowed by him was:
T Ifdd @ YR AT W 12%
gfd a¥ & g & TF a6 F For fom)
3 OT & 91§ 38 5400 F &1 AT ol
gsTl 3§+ ¢@RT 3R o 7€ U A
o

a) 2000 b) 10000

c) 20000 i 15000
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In how many years will a sum of Rs.3000
yield a simple interest of Rs.1080 at 12%
per annum?

fFaar aut & 3000 ¥ H Y W ufa
a¥y 12% T T ¥ 1080 T HT AIYROT
ST fAeem?

3 b)z§ c) 2 d)3§
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If a certain sum of money borrowed at
5% per annum simple interest
amounts to Rs.1020 in 4 years, then
the sum of money borrowed is:-

IfE 5% 9fad aF fr T o FEUROT

ST W 3R o 15 e AfRad

Tfdr &1 AT 4 97 & 1020 ®

%m g, a 3uR o € Tfr &
Rs.850 b)Rs.925

c)Rs.750 d) None of these
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A sum of Rs.1600 gives a simple interest of
Rs.252 in 2 years and 3 months. The rate of
interest per annum is: 3

1600 ¥ # TH GART2 a3 3
AT A 252 ¥ HT HIYROT sAqTST ol
gl 9fa a¥ sarer &g T Ao

a)55%  b)8% \_9(7% d) 6%
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If the simple interest on a certain sum of money for
2 years is one-fifth_of the sum, then the rate of
interest per annum is:- A0/

Ifg 2 g & R U &1 GeRr suer 39S
Ugd RET & & g Sar § @Y s
s gv frasil geft?

a) 9% \)1/10% c) 8% d) None of these
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If the simple interest on a certain sum of money is
4 /25th of the sum and the rate per cent equals the
—__——-‘

numbers of years, then the rate of interest per annum is:-
TH YUy 9T HTHUROT sIqTST 3 I &7 — ar
m%laﬁaﬁfrmaﬁmaqﬁr&mﬂ:m
2, ar ofy af aT Far #2

a) 2% b) 3% \yﬁ% d) None of these

Y Mﬁa—-w/ &(T
A5
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The simple interest on a sum of money is 5 of

the principal and the number of years is equal
to rate per cent per annum. The per annum is

T Y 9T HIUROT STl Heed &l
1/9 ¢ 3R ast Y gear ufday X F
& g1 gfaay g F4r 82

a) 3% b)%% \;/3§% d)%%
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The simple interest on a sum of money is

1 .
EOf the sum. If the number of years is

numerically double the rate percent per
annum, then the rate per cent per annum is
TF YeRNMA X ST FYUROT AT

ufRr & — ¥ Iy a6t fr wEd

18

A & @ gfdad g7 & Qe g,
a’rq‘i%m‘ravsrﬁﬁram%?

1

wf12 d)1i

9




a1y, . .1
/J_”_\, . A sum of money becomes Eﬂf itself in - of
o

a year at a certain rate of simple interest.
The rate of interest per annum is

HIYROT g1 1 T fAfad a7 W &
D oyY= L dev=tgy T & % HET A UH gl 41/40 @1

Yo 10 g1 9fa a¥ sarer Y g7 FAT B2
10% b) 1%
| c)2.5% d) 5%

L xlop= p,
o @ 5% x4= g,




1 A
=4 5
XloD= &6.66 .
)
=6.6¢.,

At what rate of simple interest per annum,
the interest on a certain sum of money for

. 2
10 years will be = of the amount?

HATUROT =OT & frg gfday @ W, 10
aut & v g7 A v ARTT Tfr w

SATST 3% AYUT &7 %ai frEar e
a) 5% \y{6§%
c) 4% d)4§%
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In a certain time, the ratio of a certain
principle and the simple 'ntirest obtained
from it are in the ratio 10:3 at 10% per
annum. The number of years the money
was invested is

v+ fAfRad 9577 &, v AfRga gaeh
IR 3|@ urcd 10%  wfaa¥ gremor
SqTST &1 AU 10: 3 g1 fraar asf &
AT 4RI P frder fRaT T 917
a)1 3 c)5 d)7
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The ratio of the ptj!ciple and the amount
after 6 years isn}:%. Then the rate of

interest per annum is:

6 99 ¥ a1 AW u«T AR Fsr 4w &
%iﬂ'qﬁl:Z g1 ar ufa a¥ surer & F4T
a) 12.5% J{16.66%

c) 100% d) 20%
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With a given rate of simple interest, the
ratio of principle gnd amount for a certain
period of time isgj;}". After 3 years, with the
same rate of interest, theratio of principle
and amount becomes 5:7. The rate of
interest is pA

fav #a st 3R s uar &1 3requa
4: 581 3 auf & 491G, WA AT T ¥
Her o7 3R s e &7 379 5: 7 @)
ST &1 SaTeT &Y T F4T 872

a) 4% b) 6%

5% d) 7%
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If the ratio of principal and amgunt in
current year at simple interest is 9 : 17 and
aft 7.5 more years this ratio will become
15 : 43. Find the rate of simple interest ?
I RO A A g W adAT a¥
# Faud AR e 1 e 9: 17
g st @ 3R 3T 27.5 aft & 915 ug
HAUTT 15:43 & SICM| JTUROT AT
N X AT HfaA?

- _5,~
7°ol/\y{3§% b)45% 3:%  d)3%
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If a sum of money at simple interest becomes
11/8 times in 7.5 years, then it will become
19/12 times in:

UF Ui 7.5 9 F 9 FT 11/8 @A
g STt 3] 39 4o A T&@F FT 19/12
I 8 & faT fFdam g aenem?

a) 9 years 4 months b) 12 years 3 months
c) 10 years 9 months 11 years 8 months

| SI(GP) | 20



The simple interest on Rs.7300 from
11 May,1987 to 10 September,1987 (both
days included) at 5% per annum is
> 72x5= 265 F11 S, 1987 § 10 RAdeR, 1987 aF
565 doip Lt et et ¥ ) s 7 S0 o
#Rs7300$rmaﬂur-msrw ?
[NE d’?” — )a3Z /fi23 b) 103
c) 200 d) 223
M JTJ & S
Al D 3 3 o




73
265 x1d0

The principal which gives Rs 1 interest per
day at a rate of 5% simple interest per
annum is

ag UM gar &7 S 5% A AT X W
1 T H 1 T WYRYT AT &t @

a) Rs. 5000 _Jf Rs. 7300

c)Rs. 36500 d) Rs. 3650

[ ssccGL2014T-2 | 22
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A sum invested at 10% p.a. simple interest
grows to Rs.7000 in 4 years. The same
amount at 15% p.a. simple interest in 6
years will grow to

PR TEH AR 10% a1f¥F g7 & |IEUROT
SO W 4 9§ #F 7000% g e B ar
IJg U 15% Tffe T & 6 a¥ &
foraet g STeer?

a) Rs.15750 b) Rs.12000

o/ Rs.9500 d) Rs.8000




Nitin borrowed some money at the rate of

67. a7 ) 157 6% p.a. for the first three years, 9% p.a. for

t 7

2,,7., the next 5 years and 13% p.a. for the

vy Syr 2o period beyond 8 years. If the total interest
X

aid by him at the end of eleven years is
187 +Y4S "'Z"q/.=]02-/ Es.BlﬁO,the money borrowed by h|m was
fafded o Fo 41X gga &9 auf F AT
6% wfaa¥, st 5 ast & AT 9%
gfaay, 3k 8 af & fs A @@ &
AT 13% 9fdad i W T 3UR
faviafe w=aRE ast & 3@ & 39& @
R Fo U 8160 F §, @ 38F
EaRT 3UR [o/ T 4T €T 4T AT?

a) Rs.12000 b) Rs.6000

5/Rs.8000 d) Rs.10000

| | 24
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